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Cycle 5 - Week 17.1
Whole Numbers 1

Fractions 1 2
Algebra 3

Measurement 4

a) _____________

b) _____________

c) _____________

3

1

2

1 5 8 2 7 10 4
+  3

a)  Write the number.       four hundred sixty-eight

b)  Write in words.  		  42

Write the fraction for the shaded part.

True or false?

  a)  36  x  5  =  5  x  36

  b)  36  x  5  =  (30  +  6)  x  5

  c)  36  x  5  =  30  x  6  x  5

The weight of a dog is best measured in:

a)   pounds       ounces       tons                 (Customary)

b)   milligrams       kilograms        grams        (Metric)
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a)  _____________

b)  _____________
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Cycle 5 - Week 17.2
Place Value 5
Fractions  2 6

Time & Money 7
Patterns 8

6

8

12 9 15 13 19 16 11
−  8

What is the value of the underlined DIGIT?

	 a) 265    		  b) 831   

The soccer game started at 2  o’clock. It 
ended 1½ hours later. Show the time that 
the game ended on the clock. 
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Fill in the blanks to complete the pattern.

The rule is ______________ .

 6,  10,  14,  ________,  22,  ________

Locate        on the number line.2
3

0 1

  a)  ___________

  b)  ___________
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Cycle 5 - Week 17.3
Mult. & Division 9

Area & Perimeter 10
Geometry 11

Data 12
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6 3 9 5 1 8 4
x  2

20  x  6  =

The PERIMETER of a SQUARE is 36". 

The length of one side is ________ .

A RECTANGLE has ______ sides.

A RECTANGLE has ______ angles.

Draw a RECTANGLE.

5:00 5:30 6:00 6:30

Show on the number line.	 Soccer practice starts at 5:00.   

�� The captain leads 10 minutes of warm-ups followed by 10 
minutes of sprints.  

�� Coach leads 20 minutes of ball work drill plus 30 minutes 
of other drills.  

�� The remaining time is left for a scrimmage.

If practice is over at 6:30, how long does the team scrimmage?  
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Cycle 5 - Week 17.4
Basic Operations 13

Vocabulary/Symbols 14
Problem Solving 15

13

14

15

60 30 80 100 40 70 20
÷  10

Put the abbreviation with its word.

mi         km       m       cm

meter		  _______

centimeter	 _______

mile		  _______

kilometer	 _______

428  +  1____6  + 223   =  827 

a)  Fill in the missing DIGIT. 

b)  Re-write the NUMBER SENTENCE.

The AREA of Chet’s horse pen is 60 square meters.  
If one side of the pen is 6 meters long, how much 
fencing does Chet need to surround the pen?
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